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BOOKS - PEARSON IIT JEE FOUNDATION

Formulae

Example

1. Write the formula for finding the perimeter P of a

square with side 'a' units. What is the subject in this

formula?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TewGdKc20fqH


2. Write the formula for finding the circumference S of a

circle. Make r the subject in this formula and find r when

S=154cm.

Watch Video Solution

3. (a) In the formula , make 'n' as

the subject. 

(b) find the value of n when 

.

Watch Video Solution

tn = [a + (n − 1)d]

tn = 92, a = 1 and d = 13

https://dl.doubtnut.com/l/_bsehGIdY9p71
https://dl.doubtnut.com/l/_kJo6PCfyBmZV


4. If  then express x in terms of y and z.

Watch Video Solution

z =
4x − 5y

5x − 4y

5. If . Express v in terms of p,q,r,s and w.

Watch Video Solution

=
p + q

r + s

t + u

v + w

6. In the formula , make a as the

subject of the formula.

Watch Video Solution

S = [2a + (n − 1)d]
n

2

https://dl.doubtnut.com/l/_254A9fJyjCHc
https://dl.doubtnut.com/l/_k5kO9x638C7d
https://dl.doubtnut.com/l/_TMiJ6l9Y90Fd


7. (a) We know that area of rectangle is equal to the

product of its length l and breadth b. 

 the formula for the area of the rectangle is given by

A=lb. 

(b) Consider the statement, 'the circumference of a

circle is equal to  times its diameter' frame a formula

for this statement.

Watch Video Solution

∴

π

8. A steamer can cover k kilometers by consuming l litres

of diesel. Write the formula for the distance d, in km

covered by the steamer which uses m litres of diesel.

Watch Video Solution

https://dl.doubtnut.com/l/_n5FVC0R9JOBD
https://dl.doubtnut.com/l/_LruZQ2rwPztI


9. If  men can complete a wrk in  days and 

men can complete the same work in  days, write the

formula relating them. Given that the number of men at

work is inversely proportional to the number of days.

Watch Video Solution

M1 D1 M2

D2

10. The simple interest for a period of N years at R% per

annum on a sum of Rs P is denoted by S. 

It equals the product of ,P,N and R. Express P in

terms of S,N and R.

Watch Video Solution

1

100

https://dl.doubtnut.com/l/_LruZQ2rwPztI
https://dl.doubtnut.com/l/_lgYuXlOPLM1g
https://dl.doubtnut.com/l/_jktgyr8dwa8v


11. Write the formula for finding the perimeter P of a

square with side 'a' units. What is the subject in this

formula?

Watch Video Solution

12. Write the formula for finding the circumference S of

a circle. Make r the subject in this formula and find r

when S=154cm.

Watch Video Solution

https://dl.doubtnut.com/l/_jktgyr8dwa8v
https://dl.doubtnut.com/l/_512t1N0BeCWB
https://dl.doubtnut.com/l/_SwV4C9Iw5KHr


13. In this formula  make 'n' as the

subject

Watch Video Solution

In = [a + (n − 1)d],

14. (a) In the formula , make 'n' as

the subject. 

(b) find the value of n when 

.

Watch Video Solution

tn = [a + (n − 1)d]

tn = 92, a = 1 and d = 13

15. If  , then express x in terms of y and z.z =
4x − 5y

5x − 4y

https://dl.doubtnut.com/l/_aFohuxokyKvT
https://dl.doubtnut.com/l/_mrQds7VQRksP
https://dl.doubtnut.com/l/_U3PPbC0IjT3v


Watch Video Solution

16. If  , then express v in terms of p,q,r,s

and w.

Watch Video Solution

=
p + q

r + s

t + u

v + w

17. In the formula , make a as

the subject of the formula.

Watch Video Solution

S = [2a + (n − 1)d]
n

2

18. (a) We know that area of rectangle is equal to the

product of its length l and breadth b. 

https://dl.doubtnut.com/l/_U3PPbC0IjT3v
https://dl.doubtnut.com/l/_s9PsSLshxS4c
https://dl.doubtnut.com/l/_dyVVM8OiKCgF
https://dl.doubtnut.com/l/_gU68pzq0UR37


 the formula for the area of the rectangle is given by

A=lb. 

(b) Consider the statement, 'the circumference of a

circle is equal to  times its diameter' frame a formula

for this statement.

Watch Video Solution

∴

π

19. Consider the statement ,'the circumference of a

circle is equal to  times its diameter' Frame a formula

for this statement.

Watch Video Solution

π

https://dl.doubtnut.com/l/_gU68pzq0UR37
https://dl.doubtnut.com/l/_QrugUkjf9XJq


20. A steamer can cover k kilometers by consuming l

litres of diesel. Write the formula for the distance d, in

km covered by the steamer which uses m litres of diesel.

Watch Video Solution

21. If  men can complete a wrk in  days and 

men can complete the same work in  days, write the

formula relating them. Given that the number of men at

work is inversely proportional to the number of days.

Watch Video Solution

M1 D1 M2

D2

https://dl.doubtnut.com/l/_zybTWHkVva2p
https://dl.doubtnut.com/l/_CpRhAPHGK6o8


Very Short Type Question

22. The simple interest for a period of N years at R% per

annum on a sum of Rs P is denoted by S. 

It equals the product of ,P,N and R. Express P in

terms of S,N and R.

Watch Video Solution

1

100

1. What are the variables in the formula ?

Watch Video Solution

T = 2π√
l

g

https://dl.doubtnut.com/l/_3NHvtxNsG9FB
https://dl.doubtnut.com/l/_AAYeYdDo6K23


2. the relation between two or more variables is called a

_____

Watch Video Solution

3. The sum of the terms of an infinite geometric

progression is denoted by , change the

subject as r.

Watch Video Solution

S =
a

1 − r

4. The variable, which is expressed in terms of other

variables, is called_____of a formula.

https://dl.doubtnut.com/l/_3OeWfZBu6702
https://dl.doubtnut.com/l/_q8ntSWNxw6fb
https://dl.doubtnut.com/l/_JCGr8H6TmcuN


Watch Video Solution

5. The formula with subject C is . 


Then what is the formula with subject F?

Watch Video Solution

C =
5F − 160

9

6. Lateral surface area (A) of a cone is A= , make l as

the subject

Watch Video Solution

πrl

7. When the subject of a formula is chagned, the rule

corresponding to the formula also changes. Is the

https://dl.doubtnut.com/l/_JCGr8H6TmcuN
https://dl.doubtnut.com/l/_t9cyMOs9Mn2s
https://dl.doubtnut.com/l/_xNIsBkuDXzKy
https://dl.doubtnut.com/l/_T9Fr4fIaEUQF


statement true or false.?

Watch Video Solution

8. if seve times the curved surface area (A) of a cylinder

is equal to 44 times the proudct of base radius (r) and

height (h) then what si the formula with subject A?

Watch Video Solution

9. Make b the subject for the formula .

Watch Video Solution

f =
a + b

a

https://dl.doubtnut.com/l/_T9Fr4fIaEUQF
https://dl.doubtnut.com/l/_O3QXNE3LDAfN
https://dl.doubtnut.com/l/_A2t3CzuREWws


10. In the formula  is ____proportional to 

.

Watch Video Solution

T = 2π√ , T
l

g

√l

11. Sum of angles of triangle ABC is . Express the

statement using symbols.

Watch Video Solution

180∘

12. The perimeter of a polygon is the ttal length of its

sides. In a regular polygon of n sids with x as the length

of a side, the perimeter P is________

https://dl.doubtnut.com/l/_NslriyKLpix9
https://dl.doubtnut.com/l/_2huD8qIcv0Q8
https://dl.doubtnut.com/l/_WQwhesbamtFS


Watch Video Solution

13. The hundredth part of the product of the principal

(P), time (T), and rate (R) is simple interest (I), then I is

_____express the statement using symbols.

Watch Video Solution

14. If the curved surface area of a closed cylinder is

 ad base area is , then total surface area of that

cylinder A is ______

Watch Video Solution

2πrh πr2

https://dl.doubtnut.com/l/_WQwhesbamtFS
https://dl.doubtnut.com/l/_j0oqrN4VMAvo
https://dl.doubtnut.com/l/_6OLQTACcK0ws
https://dl.doubtnut.com/l/_qAkKubO0mA9B


15. if pressure P is inversely proportional to volume (V)

at constant temperature, then PV is constant

(True/False)

Watch Video Solution

16. A formula is based on the equlity property. True or

False?

Watch Video Solution

17. if 16times the area of a square (A) is equal to the

perimeter (P) f the square, then A is ______.

Watch Video Solution

https://dl.doubtnut.com/l/_qAkKubO0mA9B
https://dl.doubtnut.com/l/_uVh5aZ52qoxh
https://dl.doubtnut.com/l/_1ttGoaL9wN8r


18. Three children have pocket money of x,y and z

rupees. The average of their pocket allowances is Rs 15.

Then x+y+z=______.

Watch Video Solution

19. What are the variables in the formula ?

Watch Video Solution

A = πr2

20. Ther ratio of T to  is  then  is______.

Watch Video Solution

√l
2π

√g
√l

https://dl.doubtnut.com/l/_1ttGoaL9wN8r
https://dl.doubtnut.com/l/_2eG6neLCr3Pd
https://dl.doubtnut.com/l/_qtWbYtytsrUf
https://dl.doubtnut.com/l/_fbeQgfAMon4q


Short Answer Type Question

1. Area of a regular polygon of n sides is given by A=

. Units . Make 'a' the subject of the formula

and find 'a' if the area of a hexagon is  sq. units.

Watch Video Solution

n a2sq
√3

4

54√3

2. In the formula , find the value of b if 

 and a=3, making b the subject.

Watch Video Solution

k = ( )
2

a − b

a + b

k = 36

https://dl.doubtnut.com/l/_fbeQgfAMon4q
https://dl.doubtnut.com/l/_xr49ftF54JXG
https://dl.doubtnut.com/l/_SMuswry96Yrj
https://dl.doubtnut.com/l/_V9USo6ZFJkC8


3. In the formula , how many

auxiliary formulae are possible ad what are they?

Watch Video Solution

tn =
1

a + (n − 1)d

4. Write all the auxiliary formulae of 

.

Watch Video Solution

A = P(1 + )
TR

100

5. Frame the formula for the volume (v) of a cylinder

given by the product of , square of radius (r) and

height (h).

Watch Video Solution

π

https://dl.doubtnut.com/l/_V9USo6ZFJkC8
https://dl.doubtnut.com/l/_vcZJNkonkyiD
https://dl.doubtnut.com/l/_MxPaytXn7G1G


Watch Video Solution

6. A wire of length a units is cut into two equal pieces

and make a circle of radius r with one piece. Frame the

formula by making r the subject.

Watch Video Solution

7. In the formula . Find the

value of  if  square units and d=2 square units

and  units.

Watch Video Solution

A = d(h1 + h − (2))
1
2

h2 A = 12

h1 = 6

https://dl.doubtnut.com/l/_MxPaytXn7G1G
https://dl.doubtnut.com/l/_NlSVxdzfdyYU
https://dl.doubtnut.com/l/_vcVNI5CSacBF


8. In the formula . Rewrite the formula

by making 'a' the subject.

Watch Video Solution

k = ( )
a + b

a − b

1
2

9. Frame the formula for the volume (v) of a hemisphere

given by two-thirds o the product of  and cube of

radius (r).

Watch Video Solution

π

10. A man buys p cycles at a total cost of Rs q annd sells

each bicycle at Rs r. if profit = , find theS. P . − C. P

https://dl.doubtnut.com/l/_XrxVsuNPoKYb
https://dl.doubtnut.com/l/_wPKG9XVMZ8Nb
https://dl.doubtnut.com/l/_ry7hH83P3iph


profit.

Watch Video Solution

11. In the formula, , make q the subject.

Watch Video Solution

x =
p + 5q

√3 + 2q

12. A man moevs with p km/h speed for 20 minutes and

q km/h for next 30 minutes. Find the expression for this

average speed in km/h.

Watch Video Solution

https://dl.doubtnut.com/l/_ry7hH83P3iph
https://dl.doubtnut.com/l/_kzO8zy54XzZF
https://dl.doubtnut.com/l/_J6rZdypnzavS


13. In the formula  make q the subject.

Watch Video Solution

S = √
p2 + q

p − q

14. Frame the formula for the area (A) of a quadrilateral

given by half the product of its diagonal (d) and sum of

offsets drawn to the diagonal from its opposite vertices

?

Watch Video Solution

(h1 and h2)

15. In the following figure, (not to scale) ABC is triangle,

where AB=1 unit, BC=  units and AC=2 units √3

https://dl.doubtnut.com/l/_2H0gTa0YOka7
https://dl.doubtnut.com/l/_Lx6wDlN6baLF
https://dl.doubtnut.com/l/_XsOUoWHfiEIf


 


What is the relationship among AB,BC and CA?

Watch Video Solution

16. A is the area of a circle with radius r units. Write the

formula of area, making r as the subject.

Watch Video Solution

https://dl.doubtnut.com/l/_XsOUoWHfiEIf
https://dl.doubtnut.com/l/_o0Un1c3VlGEM
https://dl.doubtnut.com/l/_UFy3I0P42dvd


17. In , make a as the subject of the

formula.

Watch Video Solution

v2 − u2 = 2as

18. A is the area of the rectangle with length l units and

breadth b units. Rewrite the formula for area making l

as the subject.

Watch Video Solution

19. A is the area of the square with side S units. Write

the formula of area making S as the subject.

Watch Video Solution

https://dl.doubtnut.com/l/_UFy3I0P42dvd
https://dl.doubtnut.com/l/_R2RrP0gpW8IF
https://dl.doubtnut.com/l/_er6oxnjsLOpB


20. If , then make c as the subject of the

formula.

Watch Video Solution

=
a

b

b

c

21. The height (h) of an equilateral triangle whose side

is 's' is . Find a, if .

Watch Video Solution

a
√3

2
h = 3√3cm

22. The simple interest on a principal of Rs P at R% per

annum for a period of 'I' years is obtained by dividing

https://dl.doubtnut.com/l/_er6oxnjsLOpB
https://dl.doubtnut.com/l/_3Sdz3c13xWtn
https://dl.doubtnut.com/l/_jrZGFBfT7606
https://dl.doubtnut.com/l/_9L3IyKy6qNaP


the product of P, T and R by 100. The formula for the

simple interest is?

Watch Video Solution

23. If the area of an equilateral tirangle is

, then the length of its altitude h is?

Watch Video Solution

A = 12√3cm2

24. If , then x is equal to

Watch Video Solution

x2 + y2 = r2

https://dl.doubtnut.com/l/_9L3IyKy6qNaP
https://dl.doubtnut.com/l/_djhoAs7Ctxu4
https://dl.doubtnut.com/l/_DZmaukeou2HU


Essey Type Question

25. In , make c as the subject.

Watch Video Solution

y = mx + c

1. Find the missing numbers in the following table. 

(i) Changing kilometers into miles. 

 


(ii) Change centrigrade  into Fehrenheit 

where centigrade scale is divided in 100 equal parts and

Fahrenheit scale is divided into 180 equal parts. 

h id l i

Numbers of kilometers 5 10 15 20 25 30

Number of miles 8 16 24 − − −

(. ∘ C) (. ∘ F )

Temperature in . ∘ C −5 0 5 10 15 20

Temperature in . ∘ F 23 32 41 − − −

https://dl.doubtnut.com/l/_j3cxv4DR0idM
https://dl.doubtnut.com/l/_4expErNX5xZW


Watch Video Solution

2. The following figure has a network of rectangles. Two

rows and three columns. 

 


(A) Totally how many rectangles are there in the figure? 

(B) If there are x rectangles in each row and y rectangles

in each column, totally how many rectangles will be

there in the network, in terms of x and y.

Watch Video Solution

https://dl.doubtnut.com/l/_4expErNX5xZW
https://dl.doubtnut.com/l/_4o7Orn3efRhv


3. The following table gives the number of sides and the

number of diagonals of a polygon. 

 


Write a formula to find in terms of n.

Watch Video Solution

Number of sides 3 4 5 6 7 8

Number of diagonals 0 2 5 9 14 20

4. In the formula , make n the subject

and find n if k=0.5.

Watch Video Solution

k = √
n2 − 1

n2 + 1

https://dl.doubtnut.com/l/_5jFyfJkOgSj6
https://dl.doubtnut.com/l/_H39lS5n1guq4


Level 1

5. The diagonal of a rectangle is 10 units. The formula to

find the diagonal is . Where l and b are

length and breadth respectively. (10+b)(10-b) is equal

to______.

Watch Video Solution

d = √l2 + b2

1. Fahrenheit temperature F is 32 more tha ninefifths of

the centrigrade temperature C. 

Frame the formula making F as the subject.

A. F = 32 − C
9

5

https://dl.doubtnut.com/l/_DVLS7yxqknFR
https://dl.doubtnut.com/l/_NTwO6sGKezAx


B. 

C. 

D. 

Answer: B

Watch Video Solution

F = 32 + C
9

5

F = C − 32
9

5

F = 32 × C
9

5

2. If , then make r as the subject of the

formula.

A. 

B. 

C. 

S =
a

1 − r

r = + 1
a

S

r = 1 +
S

a

r = 1 −
S

a

https://dl.doubtnut.com/l/_NTwO6sGKezAx
https://dl.doubtnut.com/l/_FqREuhEKCsaM


D. 

Answer: D

Watch Video Solution

r = 1 −
a

S

3. Frame the formula: 

final velocity (v) of a body in linear motion is equal to

the sum of its initial velocity (u) and the product of

acceleration (a) and time (t).

A. v=-u+at

B. v=u-at

C. v=u+at

https://dl.doubtnut.com/l/_FqREuhEKCsaM
https://dl.doubtnut.com/l/_FRFUM9mnSdfw


D. v=-u-at

Answer: C

Watch Video Solution

4. The nth term of a geometric progression is given by

 find the value of  if 

.

A. 

B. 

C. 

D. 4

tn = arn− 1 a,

tn = 32, r = 4 and n = 5

1

8

8

1

4

https://dl.doubtnut.com/l/_FRFUM9mnSdfw
https://dl.doubtnut.com/l/_AhzxxXkR9xSo


Answer: A

Watch Video Solution

5. if the slant height (l) of a cone is equal to the square

root of the sum of the squares of radius (r) and height

(h) then,

A. 

B. 

C. 

D. .

Answer: B

l = r2 + h2

l = √r2 + h2

l2 = √r2 + h2

r2 − h2 = l2

https://dl.doubtnut.com/l/_AhzxxXkR9xSo
https://dl.doubtnut.com/l/_2EL4WWFYX2wD


Watch Video Solution

6. Write all the possible auxiliary formulae of

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

A = π)R2 − r2)

R = √ , r = √A − πr2

π

R2π + A2

π

R = √ , r = √A + πr2

π

R2π − A

π

r = √ , R = √A + πr2

π

r2π − A

π

https://dl.doubtnut.com/l/_2EL4WWFYX2wD
https://dl.doubtnut.com/l/_lDcCJ0jvrAL9


7. Which of the following is not an auxillary fromula for

the area of a quadrilateral i.e., ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = (h1 + h2)
d

2

h1 = − h2
2A

d

h2 =
2A − h1d

d

h1 = − d
2A

h2

d =
2A

h1 + h2

8. In , if  seconds and 

, then find the value of u by making u as the

s = ut + at21
2

s = 16m, t = 2

a = 5m/s2

https://dl.doubtnut.com/l/_mMcPRA0pXSze
https://dl.doubtnut.com/l/_gv4GN9wZ3u99


subject.

A. 3m/s

B. 5m/s

C. 2m/s

D. 4m/s

Answer: A

Watch Video Solution

9. In , if 

 then find s

making s as the subject.

r1 =
A

s − a

A = 12cm2, r1 = 4cm and a = 3cm

https://dl.doubtnut.com/l/_gv4GN9wZ3u99
https://dl.doubtnut.com/l/_unGBgUzkEmpk


A. 6 cm

B. 8 cm

C. 12 cm

D. 16 cm

Answer: A

Watch Video Solution

10. In the formula v=u+at, if  seconds

and  then u=____.

A. 10m/s

B. 6 m/s

a = 5m/s2, t = 3

v = 20m/s,

https://dl.doubtnut.com/l/_unGBgUzkEmpk
https://dl.doubtnut.com/l/_W3NcuxtMrAkE


C. 7 m/s

D. 5 m/s

Answer: D

Watch Video Solution

11. Write the auxiliary formulae related to .

A. 

B. 

x2 − y2 = z2

x = √y2 + z2, y = √x2 − z2 and z = √x2 − y2

x = √z2 + y2, y = √z2 + x2 and z2 = √x2 − y2

https://dl.doubtnut.com/l/_W3NcuxtMrAkE
https://dl.doubtnut.com/l/_PuJDntn36hq4


C. 

D. 

Answer: A

Watch Video Solution

x = √y2 + z2, y = √x2 − z2 and z = √y2 − x2

z = √x2 − y2, y = √z2 + x2 and x = √x2 + y2

12. Write the following sentence in symbolic form. Sum

of cubes of p and q is equal to thrice the product of r

and s.

A. p3 − q3 = 3rs

https://dl.doubtnut.com/l/_PuJDntn36hq4
https://dl.doubtnut.com/l/_EXFbz7b2nSyv


B. 

C. 

D. 

Answer: B

Watch Video Solution

p3 + q3 = 3rs

p3 + q3 = r3s3

p2 + q2 = 3r3s3

13. In the formula , if r=5 and l=13, then find

the value of h.

A. 12

B. 144

C. 18

l2 = r2 + h2

https://dl.doubtnut.com/l/_EXFbz7b2nSyv
https://dl.doubtnut.com/l/_451dJk58HdHV


D. 184

Answer: A

Watch Video Solution

14. In the formula obtained in the problem 12, make the

subject as p.

A. 

B. 

C. 

D. 

(q3 − 3rs)
1
3

(3rs − q3)
1
3

(q3 − 3rs)
1
3

(3rs − q3)
1
2

https://dl.doubtnut.com/l/_451dJk58HdHV
https://dl.doubtnut.com/l/_xLxxnztovwHd


Answer: B

Watch Video Solution

15. In the formula , if a=5 and H=8, then find

the value of b.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H =
2ab

a + b

20

18

13

1

20

13

18

https://dl.doubtnut.com/l/_xLxxnztovwHd
https://dl.doubtnut.com/l/_bSJObXyDEklS


16. In the formula , if r=25 and x=7, then the

positive value of y is

A. 18

B. 24

C. 576

D. 324

Answer: B

Watch Video Solution

r2 = x2 + y2

https://dl.doubtnut.com/l/_bSJObXyDEklS
https://dl.doubtnut.com/l/_Da8NZBpb9Oy7


17. Frame the formula: sum of the products of p,x and

q,y is equal to r.

A. py+qx=r

B. px-qy=r

C. px+qy=r

D. px+qy+r=0

Answer: C

Watch Video Solution

18. If , then find the value of n, given that 

.

tn = an− 1

a = 2, r = 3 and tn = 486

https://dl.doubtnut.com/l/_apu2lY3tyxlm
https://dl.doubtnut.com/l/_rfCa4qzfiAGR


A. 5

B. 6

C. 4

D. 8

Answer: B

Watch Video Solution

19. If , then make w as te subject of

the formula.

A. 

B. 

= = +
1

x

1

y

1

z

1

w

w =
xyz

xy + 9yz + zx

w =
xyz

yz + zx − xy

https://dl.doubtnut.com/l/_rfCa4qzfiAGR
https://dl.doubtnut.com/l/_ruPRrpWIVMvZ


C. 

D. 

Answer: B

Watch Video Solution

w =
xyz

xy − yz + zx

w =
xyz

xy + yz − zx

20. Frame the formula: The lateral surface area of a

cylinder S is equal to twice the product of , radius (r)

and height (h) of the cylinder.

A. 

B. 

C. 

π

S = π2r2h2

S = πrh

2S = πrh

https://dl.doubtnut.com/l/_ruPRrpWIVMvZ
https://dl.doubtnut.com/l/_4RlsGAnsfOMG


D. 

Answer: D

Watch Video Solution

S = 2πrh

21. Frame the formula for the sentence given below. The

sum of the cube of p and the product of 8 and q is

equal to the sum of the product of 21, s and the product

of 4 and the square of r.

A. 

B. 

C. 

p3 − 4r2 = 21s + 8q

p3 − 4r2 = 21s − 8q

p3 + 4r2 = 21s + 8q

https://dl.doubtnut.com/l/_4RlsGAnsfOMG
https://dl.doubtnut.com/l/_2CE4KRqeYYBP


D. none of these

Answer: B

Watch Video Solution

22. In the formula , make n as the

subject

A. 

B. 

C. 

D. 

tn = a(n − 1)d

n = (tn − a) + 1
1

d

n = (tn − a) − 1
1

3

n = (tn − a) + 1
1

d

n = (tn + a) + 1
1

d

https://dl.doubtnut.com/l/_2CE4KRqeYYBP
https://dl.doubtnut.com/l/_7Xxcvn6bUnlc


Answer: A

Watch Video Solution

23. If , write all the auxiliary

formulae of S.

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

s = 2(lb + hb + hl)

l = , b = and h =
s − 2bh

2(b + h)

s − 2hl

2(h + l)

s − 2lh

2(l + h)

l = and h =
s − 2bh

2(b + h)

s − 2lb

2(l + b)

l = , b = and h =
s − 2bh

2(b + h)

s − 2hl

2(h + l)

s − 2lh

2(l + h)

https://dl.doubtnut.com/l/_7Xxcvn6bUnlc
https://dl.doubtnut.com/l/_j9AWlLyLh3dL


24. If , then make d as the subject of

the formula.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

=
a + b

x + y

z + t

c + d

d =
(z + t)(x + y)

a + b

d =
(z + t)(x + y) − ac − bc

(a + b)

d =
(z + t)(x + y) − ac − bc

a + b

d =
(a + b)(x + ) − az − at

z + t

https://dl.doubtnut.com/l/_j9AWlLyLh3dL
https://dl.doubtnut.com/l/_YuMbe70vEXMI


25. In the formula , make x as

the subject of the formula.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p = (2x − 3y)
3x − 2y

.

x =
y(3p − 2)

2p − 3

x =
y(3p − 2)

2p + 3

x =
y(3p + 2)

2p − 3

x =
y(3p + 2)

2p + 3

26. If the sum of y and ten tims x is equal to the product

of x and y, then give the formula with y as the subject.

https://dl.doubtnut.com/l/_EGt0IDlkcmvF
https://dl.doubtnut.com/l/_qY2oFXLe5Tsy


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y =
10x

x − 1

y =
10x

1 − x

y =
10x

x + 1

27. If the formula , make a as the subject.

A. 

B. 

C. 

y =
a + b

a − b

a =
b(a + y)

1 − y

a =
b(1 + y)

a − 1

a =
b(1 + y)

y − 1

https://dl.doubtnut.com/l/_qY2oFXLe5Tsy
https://dl.doubtnut.com/l/_5WDrQhunLRDx


D. 

Answer: C

Watch Video Solution

a =
b(1 − y)

1 + y

28. In an experiment at a constant temperature (T),

pressure (P) is inversely related related to volume (V)

and also at constant volume (V), pressure (P) is directly

related to temperature (T). The formula according to

the above information is (Take the proportionality

constant as K).

A. 

B. 

PVK = T

PV T = K

https://dl.doubtnut.com/l/_5WDrQhunLRDx
https://dl.doubtnut.com/l/_vYQ0hI0iN8uV


C. 

D. 

Answer: D

Watch Video Solution

PV = K

= K
PV

T

29. In the formula , make a as the

subject of the formula

A. 

B. 

C. 

D. 

s = ut + at21

2

a =
2s − ut

t2

a =
2s + 4t

t2

a =
2(s − ut)

t2

a =
s − ut

t2

https://dl.doubtnut.com/l/_vYQ0hI0iN8uV
https://dl.doubtnut.com/l/_wl0K62cR6wse


Answer: C

Watch Video Solution

30. If the sum of the square of p and twice of q is equal

to the square root of the sum of the square of r and s,

wirte a formula wth p as the subject.

A. 

B. 

C. 

D. 

Answer: D

p = √2q − √r2 + s2

p = √r2 + s2 − 2q

p = √2q − r2 − s2

p = √1 − k2

https://dl.doubtnut.com/l/_wl0K62cR6wse
https://dl.doubtnut.com/l/_pi4pFoMt3RGZ


Watch Video Solution

31. The number of variables in the formula 

is _____

A. 4

B. 5

C. 3

D. 2

Answer: C

Watch Video Solution

T = 2π√
l

g

https://dl.doubtnut.com/l/_pi4pFoMt3RGZ
https://dl.doubtnut.com/l/_qijdiKfGNum2
https://dl.doubtnut.com/l/_oVIoMPwueJUO


Level 2

32. Make b as the subject the formula 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f =
a + b

a

b = af + a

b = af − a

b =
a + f

a

b =
a + f

f

https://dl.doubtnut.com/l/_oVIoMPwueJUO


1. The area of an equilateral triangle is , where

h is the length of the altitude. Write the formula making

h as the subject

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A =
h2

√3

h = √3A

h = √√3A

h = √√3A

h = 3A2

https://dl.doubtnut.com/l/_NnlGwpLWnXSe


2. In , make b as the subject of the formula.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y =
a + b

a − b

b =
a(y − 1)

1 + y

b =
a(1 + y)

y − 1

b =
a(y + 1)

1 − y

b =
a(1 − y)

1 + y

3. If , then make b as the subject of the

formula.

H =
2b

a + b

https://dl.doubtnut.com/l/_uz9UGA9WgtZG
https://dl.doubtnut.com/l/_rlQrFaj82bjZ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

b =
2 + H

Ha

b =
Ha

2a − H

b =
2a − H

Ha

b =
Ha

2a + H

4. In , make b as the subject of the formula.

A. 

B. 

C. 

+ = 1
x

a

x

b

b = ( − 1)y
x

a

b =
ay

x + a

b =
ay

a − x

https://dl.doubtnut.com/l/_rlQrFaj82bjZ
https://dl.doubtnut.com/l/_IkyuW5BlMmfQ


D. 

Answer: C

Watch Video Solution

b =
a − x

ay

5. The volume of a cone is . Make r as the

subject of the formula.

A. 

B. 

C. 

D. 

V = πr2h
1

3

r = √
3V 2

πh

r = √
V

3πh

r = √
3V

πh

r = √
V

3πh

https://dl.doubtnut.com/l/_IkyuW5BlMmfQ
https://dl.doubtnut.com/l/_Wwo8muo1MSBb


Answer: C

Watch Video Solution

6. In the formula  if V=9.42 units, h=4 units

and , then r is

A.  units

B.  units

C.  units

D.  units

Answer: B

Watch Video Solution

V = pr2h,
1

3

π = 3.14

9

4

3

2

2

3

4
9

https://dl.doubtnut.com/l/_Wwo8muo1MSBb
https://dl.doubtnut.com/l/_lDiP9Eg7L767


7. If , then make v as the subject o the

foormula. Also find v, if u=12 units and f=3 units

A. 4 units

B.  units

C. 9 units

D.  units

Answer: A

Watch Video Solution

= +
1

f

1

u

1

v

1

9

1

4

https://dl.doubtnut.com/l/_lDiP9Eg7L767
https://dl.doubtnut.com/l/_c1E2i61hE9dy


8. In , make h as the subject of the

formula.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S = π√r2 + h2

h = √ − r2S

πr

h = √ + r2S2

πr2

h = √ − r2π2r2

S2

h = √ − r2S2

π2r2

https://dl.doubtnut.com/l/_v0q5An3C4Kk1


9. The general form of a straight line is ax+by+c=0,

where a,b,c 0. Make y as the subject of the given

equation.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

≠

y = ( )x + ( )
a

b

c

b

y = ( )x + ( )
−a

b

−c

b

y = ( )x + ( )
−a

b

c

b

y = ( )x + ( )
−a

b

−b

c

https://dl.doubtnut.com/l/_8JjxmjZqioYE


10. The volume of a sphere is given by  Make

r as the subject of the formula.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

V = πr34
3

√
3V
4π

3V
4π

( )
3V

π

1
3

( )
3V
4π

1
3

https://dl.doubtnut.com/l/_7G4W1C56VPHn


11. Frame the formula: The square of the difference of p

and q is equal to the sum of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p2, q2 and ( − 2pq)

(p − q)2 = p2 + q2 − 2pq

(p − q)2 = p2 + q2 + 2pq

(p − q)2 = p2 − q2 − 2pq

(p + q)2 = p2 + q2 − 2pq

12. In the formula , make p as the

subject of the formula.

p4 − q3 = r2 − s

https://dl.doubtnut.com/l/_8zeYIlkisFog
https://dl.doubtnut.com/l/_Vz8j46TKHifn


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

p = (r2 − q3 − s)
1
4

p = (r2 − q3 − s)
1
4

p = (r2 + q3 + s)
1
4

p = (r2 + q3 − s)
1
4

13. The total surface area of a cuboid is

. Make l as the subject of the

formula.

A. 

S = 2(lb + bh + lh)

l =
S

2(b + h)

https://dl.doubtnut.com/l/_Vz8j46TKHifn
https://dl.doubtnut.com/l/_oT73bDF9KLJ0


B. 

C. 

D. 

Answer: C

Watch Video Solution

l = +
S

b + h

bh

b + h

l =
2 − 2bh

2(b + h)

l =
S − bh

b + h

14. What are the auxiliary formulae of the statement

"sum of the angles of a quadrilateral ABCD is ,"

(The four angles of the quadrilateral are A,B,C and D)?

A.  


 


360∘

A = 360∘ − (B + C + D)

B = 360∘ − (A + C + D)

https://dl.doubtnut.com/l/_oT73bDF9KLJ0
https://dl.doubtnut.com/l/_jfkpblgWDLhV


 


B.  


 


 


C.  


 


 


D.  


 


C = 360∘ − (A + B + D)

D = 360∘ − (A + B + C)

A = 360∘ − (B + C + D)

B = 360∘ − (A + C + D)

C = 360∘ − (A + B + D)

D = 360∘ − (A − B + C)

A = 360∘ − (B + C + D)

B = 360∘ − (A − C + D)

C = 360∘ − (A + B + D)

D = 360∘ − (A + B + C)

A = 360∘ − (B + C + D)

B = 360∘ − (A + C + D)

https://dl.doubtnut.com/l/_jfkpblgWDLhV


 


Answer: A

Watch Video Solution

C = 360∘ − (A − B + D)

D = 360∘ − (A − B + C)

15. If , then expres r in terms of S and a.

A. 

B. 

C. 

D. 

S =
a

1 − r3

r = 3√1 +
a

S

r = 3√1 +
S

a

r = 3√1 −
S

a

r = 3√1 −
a

S

https://dl.doubtnut.com/l/_jfkpblgWDLhV
https://dl.doubtnut.com/l/_jzcu5TWHvrUo


Answer: D

Watch Video Solution

16. In , , find u.

A. 2

B. 8

C. 4

D. 1

Answer: C

Watch Video Solution

S = ut + at21

2
S = 96, t = 8 and a = 2

https://dl.doubtnut.com/l/_jzcu5TWHvrUo
https://dl.doubtnut.com/l/_vXkJXOSM2LH8
https://dl.doubtnut.com/l/_iSYiGtxIBSEC


17. If , then express F in terms of C.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C = (F − 32)
5

9

F = C − 32
9

5

F = 32 − C
9

5

F = (C + 32)
9

5

F = C + 32
9

5

18. If , express b in terms of a.

A. 

a = b − √b2 − 1

b = (a− 1 − a)
1

2

https://dl.doubtnut.com/l/_iSYiGtxIBSEC
https://dl.doubtnut.com/l/_6EpDZEzGZnCO


B. 

C. 

D. 

Answer: B

Watch Video Solution

b = (a + a− 1)
1

2

b = (a − a− 1)
1

2

b = (a + a− 1)
−1

2

19. If , express a in terms of b,c and d.

A. 

B. 

C. 

D. 

+ = +
1

a

1

b

1

c

1

d

a =
bcd

bc + cd − bd

a =
bcd

cd + bd − bc

a =
bcd

bd + bc + cd

a =
bcd

bd + bc − cd

https://dl.doubtnut.com/l/_6EpDZEzGZnCO
https://dl.doubtnut.com/l/_lnfP8UxXtPSp


Answer: D

Watch Video Solution

20. If , then express c in

terms of A,s,a and b.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

A = √(s − a)(s − b)(s − c)

c =
A2 − a

(s − a)(s − b)

c = s −
A2

(s − a)(s − b)

c =
A2 − s

(s − a)(s − b)

https://dl.doubtnut.com/l/_lnfP8UxXtPSp
https://dl.doubtnut.com/l/_cXC5PXrFKOCl


Level 3

21. , express d in terms of s, h

and a.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

S = [2a + (h − 1)d]
h

2

d =
2s − ah

h(h − 1)

d =
2s − 2ah

h(h − 1)

d =
s − ah

sh(h − 1)

d =
s − 2ah

h(h − 1)

https://dl.doubtnut.com/l/_cXC5PXrFKOCl
https://dl.doubtnut.com/l/_cLM14YcNiqiD


1. In , if x=5 and P=7, the y=?

A. 3

B. 

C. 

D. 

Answer: C

Watch Video Solution

P =
5x + 2y

3x − 4y

3

8

8

3

1

3

2. In the formula , make y as the

subject of the formula.

x = y + √y2 + 1

https://dl.doubtnut.com/l/_2hPBeWow4fZm
https://dl.doubtnut.com/l/_DYYAa8AUMWP5


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = (x− 1 − x)
1

2

y = (x − x− 1)
1

2

y = (x− 1 + x)
1

2

y = (x2 + )
1

2

1

x

3. In the formula E=3k(1-2c), make c as the subject o the

formula.

A. 

B. 

c = +
1

2
E

6k

c = −
1

2
E

3k

https://dl.doubtnut.com/l/_DYYAa8AUMWP5
https://dl.doubtnut.com/l/_svvoBk7qLuJA


C. 

D. 

Answer: C

Watch Video Solution

c = −
1

2
E

6k

c = +
1

2
E

3k

4. If , then make v as the subject of the

formula.

A. 

B. 

C. 

D. 

= +
1

f

1

u

1

v

v =
u − f

uf

v =
f − u

fu

v =
uf

u − f

v =
uf

u + f

https://dl.doubtnut.com/l/_svvoBk7qLuJA
https://dl.doubtnut.com/l/_LWQcETc7Qlhx


Answer: C

Watch Video Solution

5. The sum of  equals the sum of twice to d

and thrice to c. express b in terms of a,c and d.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

a2 and cb3

b = 3√ (2d + 3c − a2)
1

c

b = 3√2d + 3c − a21

c

b =
3√a2 − 2d − 3c

c

https://dl.doubtnut.com/l/_LWQcETc7Qlhx
https://dl.doubtnut.com/l/_FUnnXh5Ps7qt


6. In , find b.

A. 6

B. 2

C. 4

D. 8

Answer: C

Watch Video Solution

c = , c = 6 and a = 3
22a + 9b

3a + 2b

7. The curved surfaec area (c) of a cone is , where 

, express h in terms of c and r.

πrl

l = √r2 + h2

https://dl.doubtnut.com/l/_FUnnXh5Ps7qt
https://dl.doubtnut.com/l/_6Uj3QOfju6He
https://dl.doubtnut.com/l/_eyb96ZhCxBjv


Test Your Concepts Very Short Answer Type Question

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

h = √c2 + πr2r41

πr

h = √c − πr2r21

πr

h = √c2 − πr2r21

πr

h = √c + πr2r41

πr

1. What are the variables in the formula ?

Watch Video Solution

T = 2π√
l

g

https://dl.doubtnut.com/l/_eyb96ZhCxBjv
https://dl.doubtnut.com/l/_TJW3iEkpZODh


2. the relation between two or more variables is called a

_____

Watch Video Solution

3. The sum of the terms of an infinite geometric

progression is denoted by , change the

subject as r.

Watch Video Solution

S =
a

1 − r

4. The variable, which is expressed in terms of other

variables, is called_____of a formula.

https://dl.doubtnut.com/l/_TJW3iEkpZODh
https://dl.doubtnut.com/l/_QniL8mrB34Q6
https://dl.doubtnut.com/l/_QPAT0jidJnzl
https://dl.doubtnut.com/l/_WS2fNfYPBP4C


Watch Video Solution

5. The formula with subject C is . 


Then what is the formula with subject F?

Watch Video Solution

C =
5F − 160

9

6. Lateral surface area (A) of a cone is A= , make l as

the subject

Watch Video Solution

πrl

https://dl.doubtnut.com/l/_WS2fNfYPBP4C
https://dl.doubtnut.com/l/_30HSQqCEqVyz
https://dl.doubtnut.com/l/_uYrpesZaXJmL


7. When the subject of a formula is chagned, the rule

corresponding to the formula also changes. Is the

statement true or false.?

Watch Video Solution

8. if seven times the curved surface area (A) of a cylinder

is equal to 44 times the proudct of base radius (r) and

height (h) then what si the formula with subject A?

Watch Video Solution

9. Make b the subject for the formula .f =
a + b

a

https://dl.doubtnut.com/l/_dX5J5kCWfn1D
https://dl.doubtnut.com/l/_CHcatl5mpvSQ
https://dl.doubtnut.com/l/_PriSatGObPb8


Watch Video Solution

10. In the formula  is ____proportional to 

.

Watch Video Solution

T = 2π√ , T
l

g

√l

11. Sum of angles of triangle ABC is . Express the

statement using symbols.

Watch Video Solution

180∘

https://dl.doubtnut.com/l/_PriSatGObPb8
https://dl.doubtnut.com/l/_YgIbIPEy1SPQ
https://dl.doubtnut.com/l/_D6ihrQ6skiQw


12. The perimeter of a polygon is the ttal length of its

sides. In a regular polygon of n sids with x as the length

of a side, the perimeter P is________

Watch Video Solution

13. The hundredth part of the product of the principal

(P), time (T), and rate (R) is simple interest (I), then I is

_____express the statement using symbols.

Watch Video Solution

https://dl.doubtnut.com/l/_UpQhj6K8xxFs
https://dl.doubtnut.com/l/_qrHjAclWSTVI


14. If the curved surface area of a closed cylinder is

 ad base area is , then total surface area of that

cylinder A is ______

Watch Video Solution

2πrh πr2

15. if pressure P is inversely proportional to volume (V)

at constant temperature, then PV is constant

(True/False)

Watch Video Solution

https://dl.doubtnut.com/l/_scEG5KupL4ma
https://dl.doubtnut.com/l/_mxu6T6jOQ1Y5


16. A formula is based on the equlity property. True or

False?

Watch Video Solution

17. if 16times the area of a square (A) is equal to the

perimeter (P) f the square, then A is ______.

Watch Video Solution

18. Three children have pocket money of x,y and z

rupees. The average of their pocket allowances is Rs 15.

Then x+y+z=______.

https://dl.doubtnut.com/l/_kD575z7j787K
https://dl.doubtnut.com/l/_7zFA41SkpyFm
https://dl.doubtnut.com/l/_IZ3MmULRcesV


Test Your Concepts Short Answer Type Question

Watch Video Solution

19. What are the variables in the formula ?

Watch Video Solution

A = πr2

20. Ther ratio of T to  is  then  is______.

Watch Video Solution

√l
2π

√g
√l

https://dl.doubtnut.com/l/_IZ3MmULRcesV
https://dl.doubtnut.com/l/_VbI7e2HyIiqf
https://dl.doubtnut.com/l/_WDfW2r03sFEk


1. Area of a regular polygon of n sides is given by A=

. Units . Make 'a' the subject of the formula

and find 'a' if the area of a hexagon is  sq. units.

Watch Video Solution

n a2sq
√3

4

54√3

2. In the formula , find the value of b if 

 and a=3, making b the subject.

Watch Video Solution

k = ( )
2

a − b

a + b

k = 36

3. In the formula , how many

auxiliary formulae are possible ad what are they?

tn =
1

a + (n − 1)d

https://dl.doubtnut.com/l/_v0dp8ZrXVnsG
https://dl.doubtnut.com/l/_onNcQBw4MmDr
https://dl.doubtnut.com/l/_i4rGgTWGORVa


Watch Video Solution

4. Write all the auxiliary formulae of 

.

Watch Video Solution

A = P(1 + )
TR

100

5. Frame the formula for the volume (v) of a cylinder

given by the product of , square of radius (r) and

height (h).

Watch Video Solution

π

https://dl.doubtnut.com/l/_i4rGgTWGORVa
https://dl.doubtnut.com/l/_EHo7IgBahK62
https://dl.doubtnut.com/l/_zK0AtftVYftn


6. A wire of length a units is cut into two equal pieces

and make a circle of radius r with one piece. Frame the

formula by making r the subject.

Watch Video Solution

7. In the formula . Find the value of 

 if  square units and d=2 square units and 

 units.

Watch Video Solution

A = d(h1 + h2)
1

2

h2 A = 12

h1 = 6

https://dl.doubtnut.com/l/_KPy17I7v3vaR
https://dl.doubtnut.com/l/_KF7tYg1Ebz16


8. In the formula . Rewrite the formula

by making 'a' the subject.

Watch Video Solution

k = ( )
a + b

a − b

1
2

9. Frame the formula for the volume (v) of a hemisphere

given by two-thirds o the product of  and cube of

radius (r).

Watch Video Solution

π

10. A man buys p cycles at a total cost of Rs q annd sells

each bicycle at Rs r. if profit = , find theS. P . − C. P

https://dl.doubtnut.com/l/_Y5llaA2Gcyvx
https://dl.doubtnut.com/l/_r96UleMAb3YN
https://dl.doubtnut.com/l/_A0T6KvWY4Yxy


profit.

Watch Video Solution

11. In the formula, , make q the subject.

Watch Video Solution

x =
p + 5q

√3 + 2q

12. A man moevs with p km/h speed for 20 minutes and

q km/h for next 30 minutes. Find the expression for this

average speed in km/h.

Watch Video Solution

https://dl.doubtnut.com/l/_A0T6KvWY4Yxy
https://dl.doubtnut.com/l/_UPiZsmiQfEJQ
https://dl.doubtnut.com/l/_YLZieXuKM9lj


13. In the formula  make q the subject.

Watch Video Solution

S = √
p2 + q

p − q

14. Frame the formula for the area (A) of a quadrilateral

given by half the product of its diagonal (d) and sum of

offsets drawn to the diagonal from its opposite vertices

?

Watch Video Solution

(h1 and h2)

15. In the following figure, (not to scale) ABC is triangle,

where AB=1 unit, BC=  units and AC=2 units √3

https://dl.doubtnut.com/l/_nCr4Lnz00cvq
https://dl.doubtnut.com/l/_ywROAiXbVt8A
https://dl.doubtnut.com/l/_Px9fwM5ZerMT


 


What is the relationship among AB,BC and CA?

Watch Video Solution

16. A is the area of a circle with radius r units. Write the

formula of area, making r as the subject.

Watch Video Solution

https://dl.doubtnut.com/l/_Px9fwM5ZerMT
https://dl.doubtnut.com/l/_wVaMblCDxAjn
https://dl.doubtnut.com/l/_iCSv8gBbrGbw


17. In , make a as the subject of the

formula.

Watch Video Solution

v2 − u2 = 2as

18. A is the area of the rectangle with length l units and

breadth b units. Rewrite the formula for area making l

as the subject.

Watch Video Solution

19. A is the area of the square with side S units. Write

the formula of area making S as the subject.

Watch Video Solution

https://dl.doubtnut.com/l/_iCSv8gBbrGbw
https://dl.doubtnut.com/l/_CWa9h2rSTAch
https://dl.doubtnut.com/l/_IieLs8Bl2xNe


20. If , then make c as the subject of the

formula.

Watch Video Solution

=
a

b

b

c

21. The height (h) of an equilateral triangle whose side

is 'a' is . Find a, if .

Watch Video Solution

a
√3

2
h = 3√3cm

22. The simple interest on a principal of Rs P at R% per

annum for a period of 'I' years is obtained by dividing

https://dl.doubtnut.com/l/_IieLs8Bl2xNe
https://dl.doubtnut.com/l/_TdyDHLNnIya2
https://dl.doubtnut.com/l/_qI3FOuqixaIh
https://dl.doubtnut.com/l/_ZyYzNux4qjpP


the product of P, T and R by 100. The formula for the

simple interest is?

Watch Video Solution

23. If the area of an equilateral tirangle is

, then the length of its altitude h is?

Watch Video Solution

A = 12√3cm2

24. If , then x is equal to

Watch Video Solution

x2 + y2 = r2

https://dl.doubtnut.com/l/_ZyYzNux4qjpP
https://dl.doubtnut.com/l/_Ntdv3vFhWDko
https://dl.doubtnut.com/l/_BA4tOCbu88WC


Test Your Concepts Easy Type Question

25. In , make c as the subject.

Watch Video Solution

y = mx + c

1. Find the missing numbers in the following table. 

Changing kilometers into miles. 

Watch Video Solution

https://dl.doubtnut.com/l/_7v4NuUh9TIX6
https://dl.doubtnut.com/l/_qfpbYxn76jKF


2. Find the missing numbers in the following table. 

(i) Changing kilometers into miles. 

 


(ii) Change centrigrade  into Fehrenheit 

where centigrade scale is divided in 100 equal parts and

Fahrenheit scale is divided into 180 equal parts. 

Watch Video Solution

Numbers of kilometers 5 10 15 20 25 30

Number of miles 8 16 24 − − −

(. ∘ C) (. ∘ F )

Temperature in . ∘ C −5 0 5 10 15 20

Temperature in . ∘ F 23 32 41 − − −

3. The following figure has a network of rectangles. Two

rows and three columns. 

 


https://dl.doubtnut.com/l/_GmzKw216L0PB
https://dl.doubtnut.com/l/_TZZE9WhR9qAk


(A) Totally how many rectangles are there in the figure? 

(B) If there are x rectangles in each row and y rectangles

in each column, totally how many rectangles will be

there in the network, in terms of x and y.

Watch Video Solution

4. If , then differentiation of y

wrt x is equal to= ?

Watch Video Solution

y = tan− 1(secx − tanx)

5. In the formula , make n the subject

and find n if k=0.5.

k = √
n2 − 1

n2 + 1

https://dl.doubtnut.com/l/_TZZE9WhR9qAk
https://dl.doubtnut.com/l/_Lp40xV2UTXWm
https://dl.doubtnut.com/l/_x7y6FuUe74HR


Concept Application Level 1

Watch Video Solution

6. The diagonal of a rectangle is 10 units. The formula to

find the diagonal is . Where l and b are

length and breadth respectively. (10+b)(10-b) is equal

to______.

Watch Video Solution

d = √l2 + b2

1. Fahrenheit temperature F is 32 more tha ninefifths of

the centrigrade temperature C. 

https://dl.doubtnut.com/l/_x7y6FuUe74HR
https://dl.doubtnut.com/l/_zYaTc7BBvPwP
https://dl.doubtnut.com/l/_RELxQIlnAV7A


Frame the formula making F as the subject.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F = 32 − C
9

5

F = 32 + C
9

5

F = C − 32
9

5

F = 32 × C
9

5

2. If , then make r as the subject of the

formula.

A. 

S =
a

1 − r

r = + 1
a

S

https://dl.doubtnut.com/l/_RELxQIlnAV7A
https://dl.doubtnut.com/l/_lr2Q8Mvycdyq


B. 

C. 

D. 

Answer: D

Watch Video Solution

r = 1 +
S

a

r = 1 −
S

a

r = 1 −
a

S

3. Frame the formula: 

final velocity (v) of a body in linear motion is equal to

the sum of its initial velocity (u) and the product of

acceleration (a) and time (t).

A. v = − u + at

https://dl.doubtnut.com/l/_lr2Q8Mvycdyq
https://dl.doubtnut.com/l/_Ef8W3jYlr2P5


B. 

C. 

D. 

Answer: C

Watch Video Solution

v = u − at

v = u + at

v = − u − at

4. The nth term of a geometric progression is given by

 find the value of  if 

.

A. 

B. 

tn = arn− 1 a,

tn = 32, r = 4 and n = 5

1

8

8

https://dl.doubtnut.com/l/_Ef8W3jYlr2P5
https://dl.doubtnut.com/l/_5VV18Lbw3VDt


C. 

D. 

Answer: A

Watch Video Solution

1

4

4

5. if the slant height (l) of a cone is equal to the square

root of the sum of the squares of radius (r) and height

(h) then,

A. 

B. 

C. 

l = r2 + h2

l = √r2 + h2

l2 = √r2 + h2

https://dl.doubtnut.com/l/_5VV18Lbw3VDt
https://dl.doubtnut.com/l/_4167mvARDaxZ


D. 

Answer: B

Watch Video Solution

r2 − h2 = l2

6. Write all the possible auxiliary formulae of

A. 

B. 

C. 

D. 

A = π(R2 − r2)

R = √ = √A − πr2

π

R2π + A2

π

R = √ , r = √A + πr2

π

R2π − A

π

r = √ , R = √A + πr2

π

r2π − A

π

R = √ , r = √A − πr2

π

R2π − A

π

https://dl.doubtnut.com/l/_4167mvARDaxZ
https://dl.doubtnut.com/l/_UXxfjBzcGPbR


Answer: B

Watch Video Solution

7. Which of the following is not an auxillary fromula for

the area of a quadrilateral i.e., ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = (h1 + h2)
d

2

h1 = − h2
2A

d

h2 =
2A − h1d

d

h1 = − d
2A

h2

d =
2A

h1 + h2

https://dl.doubtnut.com/l/_UXxfjBzcGPbR
https://dl.doubtnut.com/l/_MgkorI5qHcNN


8. In , if  seconds and 

, then find the value of u by making u as the

subject.

A. 3 m/s

B. 5 m/s

C. 2 m/s

D. 4 m/s

Answer: A

Watch Video Solution

s = ut + at21
2

s = 16m, t = 2

a = 5m/s2

https://dl.doubtnut.com/l/_MgkorI5qHcNN
https://dl.doubtnut.com/l/_lLgNFf2l1sYs


9. In , if 

 then find s

making s as the subject.

A. 6 cm

B. 8 cm

C. 12 cm

D. 16 cm

Answer: A

Watch Video Solution

r1 =
A

s − a

A = 12cm2, r1 = 4cm and a = 3cm

https://dl.doubtnut.com/l/_y9OLTuCueOKC


10. In the formula v=u+at, if  seconds

and  then u=____.

A. 10 m/s

B. 6 m/s

C. 7 m/s

D. 5 m/s

Answer: D

Watch Video Solution

a = 5m/s2, t = 3

v = 20m/s,

11. Write the auxiliary formulae related to .x2 − y2 = z2

https://dl.doubtnut.com/l/_B4EsmvMVx9MK
https://dl.doubtnut.com/l/_6dSwcc1y4RXR


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = √y2 + z2, y = √x2 − z2, and z = √x2 − y2

x = √z2 + y2, y = √z2 − x2 and z2 = √x2 − y2

x = √y2 + z2, y = √x2 − z2, and z = √y2 − x2

z = √x2 − y2, y = √z2 + x2, and x = √x2 + y2

https://dl.doubtnut.com/l/_6dSwcc1y4RXR


12. Write the following sentence in symbolic form. Sum

of cubes of p and q is equal to thrice the product of r

and s.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p3 − q3 = 3rs

p3 + q3 = 3rs

p3 + q3 = r3s3

p2 + q2 = 3r3s3

https://dl.doubtnut.com/l/_gwhNiwDOy2Kt


13. In the formula , if r=5 and l=13, then find

the value of h.

A. 12

B. 144

C. 18

D. 184

Answer: A

Watch Video Solution

l2 = r2 + h2

14. In the formula obtained in the problem 12, make the

subject as p.

https://dl.doubtnut.com/l/_ftoVCjatrgtk
https://dl.doubtnut.com/l/_31NVvCTK46PM


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − q3 − 3rs)
1
3

(3rs − q3)
1
3

(q3 − 3rs)
1
3

(3rs − q3)
1
2

15. In the formula , if a=5 and H=8, then find

the value of b.

A. 20

B. 

H =
2ab

a + b

18

13

https://dl.doubtnut.com/l/_31NVvCTK46PM
https://dl.doubtnut.com/l/_5qXkRPf3VXkb


C. 

D. 

Answer: A

Watch Video Solution

1

20

13

18

16. In the formula , if r=25 and x=7, then the

positive value of y is

A. 18

B. 24

C. 576

D. 324

r2 = x2 + y2

https://dl.doubtnut.com/l/_5qXkRPf3VXkb
https://dl.doubtnut.com/l/_h271nzE5wZtc


Answer: B

Watch Video Solution

17. Frame the formula: sum of the products of p,x and

q,y is equal to r.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

py + qx = r

px − qy = r

px + qy = r

px + qy + r = 0

https://dl.doubtnut.com/l/_h271nzE5wZtc
https://dl.doubtnut.com/l/_TINZg3oygkmt


18. If , then find the value of n, given that 

.

A. 5

B. 6

C. 4

D. 8

Answer: B

Watch Video Solution

tn = arn− 1

a = 2, r = 3 and tn = 486

https://dl.doubtnut.com/l/_TINZg3oygkmt
https://dl.doubtnut.com/l/_W3VOW4ddTZs7


19. If , then make w as te subject of

the formula.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ = +
1

x

1

y

1

z

1

w

w =
xyz

xy + 9yz + zx

w =
xyz

yz + zx − xy

w =
xyz

xy − yz + zx

w =
xyz

xy + yz − zx

20. Frame the formula: The lateral surface area of a

cylinder S is equal to twice the product of , radius (r)π

https://dl.doubtnut.com/l/_lF0rcH8FlOep
https://dl.doubtnut.com/l/_hIqMneFaxCsg


and height (h) of the cylinder.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S = π2r2h2

S = πrh

2S = πrh

S = 2πrh

21. Frame the formula for the sentence given below. The

sum of the cube of p and the product of 8 and q is

https://dl.doubtnut.com/l/_hIqMneFaxCsg
https://dl.doubtnut.com/l/_H6VKcLx4Ezup


equal to the sum of the product of 21, s and the product

of 4 and the square of r.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p3 − 4r2 = 21s + 8q

p3 − 4r2 = 21s − 8q

p3 + 4r2 = 21s + 8q

p2 − 4r2 = 21s − 8q

22. In the formula , make n as the

subject

tn = a(n − 1)d

https://dl.doubtnut.com/l/_H6VKcLx4Ezup
https://dl.doubtnut.com/l/_kvKHrEyZ3mvq


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n = (tn − a) + 1
1

d

n = (tn − a) − 1
1

d

n = (tn + a) − 1
1

d

n = (tn + a) + 1
1

d

23. If , write all the auxiliary

formulae of S.

A. 

s = 2(lb + hb + hl)

l = , b = , and h =
s − 2bh

2(b + h)

s − 2hl

2(h + l)

s − 2lh

2(l + h)

https://dl.doubtnut.com/l/_kvKHrEyZ3mvq
https://dl.doubtnut.com/l/_aH6b2RLXlM0y


B. 

C. 

D. 

Answer: A

Watch Video Solution

l = , and h =
s − 2bh

2(b + h)

s − 2lb

2(l + b)

l = , b, = and h =
s − 2bh

2(b + h)

s − 2hl

2(h + l)

2 − 2lh

(l + h)

l = and h =
2 − 2bh

2(b + h)

s − 2lb

(l + b)

24. If , then make d as the subject of

the formula.

A. 

B. 

=
a + b

x + y

z + t

c + d

d =
(z + t)(x + y)

a + b

d =
(z + t)(x + y) − c

a + b

https://dl.doubtnut.com/l/_aH6b2RLXlM0y
https://dl.doubtnut.com/l/_i33YwSApVF0m


C. 

D. 

Answer: C

Watch Video Solution

d =
(z + t)(x + y) − ac − bc

a + b

d =
(z + t)(x + y) − az − at

z + t

25. In the formula , make x as the subject

of the formula.

A. 

B. 

C. 

D. 

p =
3x − 2y

2x − 3y

x =
y(3p − 2)

2p − 3

x =
y(3p − 2)

2p + 3

x =
y(3p + 2)

2p − 3

x =
y(3p + 2)

2p + 3

https://dl.doubtnut.com/l/_i33YwSApVF0m
https://dl.doubtnut.com/l/_hVKc67owdrTd


Answer: A

Watch Video Solution

26. If the sum of y and ten tims x is equal to the product

of x and y, then give the formula with y as the subject.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y =
10x

x − 1

y =
10x

1 − x

y =
10x

x + 1

y =
10

1 − x

https://dl.doubtnut.com/l/_hVKc67owdrTd
https://dl.doubtnut.com/l/_E6Am8LcicUcq


27. If the formula , make a as the subject.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y =
a + b

a − b

a =
b(1 + y)

1 − y

a =
b(1 + y)

a − 1

a =
b(1 + y)

y − 1

a =
b(1 − y)

1 + y

28. In an experiment at a constant temperature (T),

pressure (P) is inversely related related to volume (V)

https://dl.doubtnut.com/l/_E6Am8LcicUcq
https://dl.doubtnut.com/l/_xl4tor9iKI4E
https://dl.doubtnut.com/l/_wYslHjuar4dF


and also at constant volume (V), pressure (P) is directly

related to temperature (T). The formula according to

the above information is (Take the proportionality

constant as K).

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PVK = T

PV T = K

PV = K

= K
PV

T

https://dl.doubtnut.com/l/_wYslHjuar4dF


29. In the formula , make a as the

subject of the formula

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

s = ut + at21

2

a =
2s − ut

t2

a =
2s + 4t

t2

a =
2(s − ut)

t2

a =
s − ut

t2

30. If the sum of the square of p and twice of q is equal

to the square root of the sum of the square of r and s,

https://dl.doubtnut.com/l/_j6G8hNvX8qXU
https://dl.doubtnut.com/l/_PHrK2LB6DPfC


wirte a formula wth p as the subject.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

p = √2p − √r2 + s2

p = √r2 + s2 − 2q

p = √2q − r2 − s2

p = √1 − k2

31. The number of variables in the formula 

is _____

T = 2π√
l

g

https://dl.doubtnut.com/l/_PHrK2LB6DPfC
https://dl.doubtnut.com/l/_n34hmm6hO5Ly


A. 

B. 5

C. 3

D. 2

Answer: C

Watch Video Solution

4

32. Make b as the subject the formula 

A. 

B. 

C. 

f =
a + b

a

b = af + a

b = af − a

b =
a + f

a

https://dl.doubtnut.com/l/_n34hmm6hO5Ly
https://dl.doubtnut.com/l/_sKLJ1s7KqddP


Concept Application Level 2

D. 

Answer: B

Watch Video Solution

b =
a + f

f

1. The area of an equilateral triangle is , where

h is the length of the altitude. Write the formula making

h as the subject

A. 

B. 

A =
h2

√3

h = √3A

h = √√3A

https://dl.doubtnut.com/l/_sKLJ1s7KqddP
https://dl.doubtnut.com/l/_WzqEraliyx9w


C. 

D. 

Answer: B

Watch Video Solution

h = √√3A

h = 3A2

2. In , make b as the subject of the formula.

A. 

B. 

C. 

D. 

y =
a + b

a − b

b =
a(γ − 1)

1 + γ

b =
a(1 + γ)

γ − 1

b =
a(γ + 1)

1 − γ

b =
a(1 − γ)

1 + γ

https://dl.doubtnut.com/l/_WzqEraliyx9w
https://dl.doubtnut.com/l/_QVQLKZRdNdxE


Answer: A

Watch Video Solution

3. If , then make b as the subject of the

formula.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H =
2b

a + b

b =
2 + H

Ha

b =
Ha

2a − H

b =
2a − H

Ha

b =
Ha

2a + H

https://dl.doubtnut.com/l/_QVQLKZRdNdxE
https://dl.doubtnut.com/l/_nCEFmcgpYz5y


4. In , make b as the subject of the formula.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ = 1
x

a

x

b

b = ( − 1)γ
x

a

b =
aγ

x + a

b =
aγ

a − x

b =
a + x

ay

5. The volume of a cone is . Make r as the

subject of the formula.

V = πr2h
1

3

https://dl.doubtnut.com/l/_nCEFmcgpYz5y
https://dl.doubtnut.com/l/_mlPup3A2zNkD
https://dl.doubtnut.com/l/_gTHJAV5eCfzm


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

r = √
3V 2

πh

r = √
V

3πh

r = √
3V

πh

r = √
V

3πh

6. In the formula  if V=9.42 units, h=4 units

and , then r is

A.  units

B.  units

V = pr2h,
1

3

π = 3.14

9

4

3

2

https://dl.doubtnut.com/l/_gTHJAV5eCfzm
https://dl.doubtnut.com/l/_nnsLsfmtgR1B


C.  units

D.  units

Answer: B

Watch Video Solution

2

3

4
9

7. If , then make v as the subject o the

foormula. Also find v, if u=12 units and f=3 units

A. 4 units

B.  units

C. 9 units

D.  units

= +
1

f

1

u

1

v

1

9

1

4

https://dl.doubtnut.com/l/_nnsLsfmtgR1B
https://dl.doubtnut.com/l/_YXpamdk13S7s


Answer: A

Watch Video Solution

8. In , make h as the subject of the

formula.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S = π√r2 + h2

h = √ − r2S

πr

h = √ + r2S2

πr2

h = √ − r2π2r2

S2

h = √ − r2S2

π2r2

https://dl.doubtnut.com/l/_YXpamdk13S7s
https://dl.doubtnut.com/l/_V88T76d6Gdz6


9. The general form of a straight line is ax+by+c=0,

where a,b,c 0. Make y as the subject of the given

equation.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

≠

y = ( )x + ( )
a

b

c

b

y = ( )x + ( )
−a

b

−c

b

y = ( )x + ( )
−a

b

c

b

y = ( )x + ( )
−a

b

−b

c

https://dl.doubtnut.com/l/_V88T76d6Gdz6
https://dl.doubtnut.com/l/_YOQGY9x9ddtz
https://dl.doubtnut.com/l/_qhaEGHAy246f


10. The volume of a sphere is given by  Make

r as the subject of the formula.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

V = πr34

3

√
3V

4π

3V

4π

( )
3V
π

1
3

( )
3V

4π

1
3

11. Frame the formula: The square of the difference of p

and q is equal to the sum of p2, q2 and ( − 2pq)

https://dl.doubtnut.com/l/_qhaEGHAy246f
https://dl.doubtnut.com/l/_nHKpcJDY9NtC


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(p − q)2 = p2 + q2 − 2pq

(p − q)2 = p2 + q2 + 2pq

(p − q)2 = p2 − q2 − 2pq

(p + q)2 = p2 + q2 − 2pq

12. In the formula , make p as the

subject of the formula.

A. 

B. 

p4 − q3 = r2 − s

p = (r2 − q3 − s)
1
4

p = (r2 − q3 + s)
1
4

https://dl.doubtnut.com/l/_nHKpcJDY9NtC
https://dl.doubtnut.com/l/_lOm2D8mnct8p


C. 

D. 

Answer: D

Watch Video Solution

p = (r2 + q3 + s)
1
4

p = (r2 + q3 − s)
1
4

13. The total surface area of a cuboid is

. Make l as the subject of the

formula.

A. 

B. 

C. 

S = 2(lb + bh + lh)

l =
S

2(b + h)

l = +
S

b + h

bh

b + h

l =
S − 2bh

2(b + h)

https://dl.doubtnut.com/l/_lOm2D8mnct8p
https://dl.doubtnut.com/l/_lqKVc1ThSKBO


D. 

Answer: C

Watch Video Solution

l =
S − bh

b + h

14. What are the auxiliary formulae of the statement

"sum of the angles of a quadrilateral ABCD is ,"

(The four angles of the quadrilateral are A,B,C and D)?

A.  


 


 


360∘

A = 360∘ − (B + C + D)

B = 360∘ − (A + C + D)

C = 360∘ − (A + B + D)

D = 360∘ − (A + B + C)

https://dl.doubtnut.com/l/_lqKVc1ThSKBO
https://dl.doubtnut.com/l/_ENH6JmtBejWq


B.  


 


 

C.  


 


 


D. 


 


 


A = 360∘ − (B + C + D)

B = 360∘ − (A + C + D)

C = 360∘ − (A + B + D)

D = 360∘ − (A − B + C)

A = 360∘ − (B + C + D)

B = 360∘ − (A − C + D)

C = 360∘ − (A + B + D)

D = 360∘ − (A + B + C)

A = 360∘ − (B + C + D)

B = 360∘ − (A + C + D)

C = 360∘ − (A − B + D)

D = 360∘ − (A − B + C)

https://dl.doubtnut.com/l/_ENH6JmtBejWq


Answer: A

Watch Video Solution

15. If , then expres r in terms of S and a.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S =
a

1 − r3

r = 3√1 +
a

2

r = 3√1 +
S

a

r = 3√1 −
S

a

r = 3√1 −
a

S

https://dl.doubtnut.com/l/_ENH6JmtBejWq
https://dl.doubtnut.com/l/_BTn59qUzZ5Tm
https://dl.doubtnut.com/l/_EkHr9Tb7WBzj


16. In , , find u.

A. 2

B. 8

C. 4

D. 1

Answer: C

Watch Video Solution

S = ut + at21

2
S = 96, t = 8 and a = 2

17. If , then express F in terms of C.

A. 

C = (F − 32)
5

9

F = C − 32
9

5

https://dl.doubtnut.com/l/_EkHr9Tb7WBzj
https://dl.doubtnut.com/l/_5aJywTZRTq1Q


B. 

C. 

D. 

Answer: D

Watch Video Solution

F = 32 − C
9

5

F = (C + 32)
9

5

F = C + 32
9

5

18. If , express b in terms of a.

A. 

B. 

C. 

D. 

a = b − √b2 − 1

b = (a− 1 − a)
1

2

b = (a + a− 1)
1

2

b = (a − a− 1)
1

2

b = (a + a− 1)
−1

2

https://dl.doubtnut.com/l/_5aJywTZRTq1Q
https://dl.doubtnut.com/l/_Daiz2CU6E8Dv


Answer: B

Watch Video Solution

19. If , express a in terms of b,c and d.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = +
1

a

1

b

1

c

1

d

a =
bcd

bc + cd − bd

a =
bcd

cd + bd − bc

a =
bcd

bd + bc + cd

a =
bcd

bd + bc − cd

https://dl.doubtnut.com/l/_Daiz2CU6E8Dv
https://dl.doubtnut.com/l/_ofQ62cyby9TA
https://dl.doubtnut.com/l/_3NIRyzLvNPIz


20. If , then express c in

terms of A,s,a and b.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = √(s − a)(s − b)(s − c)

c =
A2 − s

(s − a)(s − b)

c = s −
A2

(s − a)(s − b)

c =
A2 − s

(s − a)(s − b)

c = s +
A2

(s − a)(s − b)

21. , express d in terms of s, h

and a.

S = [2a + (h − 1)d]
h

2

https://dl.doubtnut.com/l/_3NIRyzLvNPIz
https://dl.doubtnut.com/l/_hpBg2eQOxT4I


Concept Application Level 3

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

d =
2s − ah

h(h − 1)

d =
2s − 2ah

h(h − 1)

d =
s − ah

sh(h − 1)

d =
s − 2ah

h(h − 1)

1. In , if x=5 and P=7, the y=?

A. 3

P =
5x + 2y

3x − 4y

https://dl.doubtnut.com/l/_hpBg2eQOxT4I
https://dl.doubtnut.com/l/_oitLjTrf86R0


B. 

C. 

D. 

Answer: C

Watch Video Solution

3

8

8

3

1

3

2. In the formula , make y as the

subject of the formula.

A. 

B. 

C. 

x = y + √y2 + 1

y = (x− 1 − x)
1

2

y = (x − x− 1)
1

2

y = (x− 1 + x)
1

2

https://dl.doubtnut.com/l/_oitLjTrf86R0
https://dl.doubtnut.com/l/_kaWijhzV1Ov9


D. 

Answer: B

Watch Video Solution

y = (x2 + )
1

2

1

x

3. In the formula E=3k(1-2c), make c as the subject o the

formula.

A. 

B. 

C. 

D. 

c = +
1

2
E

6k

c = −
1

2
E

3k

c = −
1

2
E

6k

c = +
1

2
E

3k

https://dl.doubtnut.com/l/_kaWijhzV1Ov9
https://dl.doubtnut.com/l/_514TwAC7h5dG


Answer: C

Watch Video Solution

4. If , then make v as the subject of the

formula.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= +
1

f

1

u

1

v

v =
u − f

uf

v =
f − u

fu

v =
uf

u − f

v =
uf

u + f

https://dl.doubtnut.com/l/_514TwAC7h5dG
https://dl.doubtnut.com/l/_iCNeDk3DfRL9


5. The sum of  equals the sum of twice to d

and thrice to c. express b in terms of a,c and d.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a2 and cb3

b = 3√ (2d + 3c − a2)
1

2

b = 3√2d + 3c − a21

c

b =
3√a2 − 2d − 3c

c

b = 3√ (2d + 3c + a2)
1

2

6. In , find b.c = , c = 6 and a = 3
22a + 9b

3a + 2b

https://dl.doubtnut.com/l/_iCNeDk3DfRL9
https://dl.doubtnut.com/l/_EW95rYsAKJ7H
https://dl.doubtnut.com/l/_kTvvv3TSFmXz


A. 6

B. 2

C. 4

D. 8

Answer: C

Watch Video Solution

7. The curved surfaec area (c) of a cone is , where 

, express h in terms of c and r.

A. 

B. 

πrl

l = √r2 + h2

h = √c2 − π2r41

πr

h = √c − π2r21

πr

https://dl.doubtnut.com/l/_kTvvv3TSFmXz
https://dl.doubtnut.com/l/_aHCjf98F0tDp


C. 

D. 

Answer: A

Watch Video Solution

h = √c2 − π2r21

πr

h = √c + π2r41

πr

https://dl.doubtnut.com/l/_aHCjf98F0tDp

